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“Are your sisters home?”
Addressing adults: First name +
patronymic

18t conjugation: Present Tense

- Stem + ending

- -an+ stem verbs

- Other 1% conjugation verb types: ng+’,
KMB+', 30B+

- Meanings of the Present Tense

JAuanor
TBOM cécTpbl gOMa? Are your sisters (at) home?
Ibpa 1 | TBou c€ctpsl nomMa? Uto onn néaarot? Are your sisters (at) home? What are they
doing?
Bansn 2 | Bépa untaer xypHai, a Mama aénaet Vera’s reading a magazine, and Masha’s doing
3 | HOMAIIHee 3aAHHE. (her) homework.
Ibpa 4 | A gto ThI 1énaeib cerdHs? And what are you doing today?
Bansn 5 | A? Huueré océ6ennoro. S uutaro niuceMa u | Me? Nothing special. I'm reading (some)
6 |caymar paauo. A moroM Mbl HAEM B KMHO. letters and listening to the radio. And then
were going to the movies.
Badnuna mame, Upuna, walks in
Ibpa 7 | 160pw1ii nenn, Uprina [1aBoBHA, KaK BbI Hello, Irina, daughter of Vadim, how are you
8 | mo:kuBaerte? doing?
Hpina 9 |3npascryiite, Opa. Bcé xopowmd, ciaci6o. A | Hello, Yura. Everything’s OK, thanks. And
BaayimoBHa | 10 | BBI? you?
Ibpa 11 | pex skanoBaThCsl. I can’t complain.
CioBapnb
1 | no6Ma (at) home
1 | némaii+ do; make
2 | gnTaii+ read
3 | momarmHee 3amaHue homework assignment (note soft H” on adjective)
4 | ceromHs today (Note that the r is pronounced [B], just like in Hu4ero, ero.)

W

HUYerd ocOOEHHOro

nothing special (Another r as [B] in 0cO0€HHOTO.)

6 | cmymai+ listen to (no need for a preposition in Russian!)

6 |pamno radio

6 | moroOm then; after that

6 |mm+ go

6 |B here: to

6 | KHHO the movies (This is a foreign noun, which never changes its form.)

7 | mOOpHI neHb hello; good afternoon (lit.: good day)

7 | HOXUBAK+ get along; be doing

7 Kaxk BbI moskuBaere? How are you doing? (This is a pretty standard polite question in Russian.)

—_
—_

Ipex JKAJIoBaThCS
rpex
HKATIOBA+...CST

I can’t complain (Literally this fixed expression means sin to complain.)
sin

complain
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16-1 ypok

16.A  Addressing Adults: First Name + Patronymic

WMpuHa MNaenosHa (7)

FpammaTuka

In addition to using the BB form with Bans’s mother Wpina, FOpa addresses her as Hpiina Il4Ba0BHa, i.c., by
her full first name (See Lesson 3 for list) plus what is known as a patronymic (6T4ecTB0), which is based on the
father’s first name. (Sorry, no such thing as a matronymic — yet.)

To form a patronymic, take the father’s full name and then add the ending -{O}Buu for men, -{O}BHa for women:

FATHER’S FIRST NAME MALE FEMALE
-{O}Buu -{O}BHa

Anexcanap AnexcaHapoBruY AnexcaHapoBHa

Anypéit AHnpéeBny AHnpéeBHa

Bopric Bopricosuu BopricoBua

Brikrop Brikroposuu BrikropoBHa

JAmaATpuit JmuatpueBny JmuiTpueBHa

I'e6pruit I'e6pruesmu I'eopruesna

UBédn WBéanoBuu WBénoBHa

Hrops Wropesiu Uropesua

[Tasen (e drops out) [14BnoBUY [14aBnoBHA

[Tétp (stress is on end) [TerpoBuu [TerpoBHA

Crenan CrenanoBud CrenanoBHa

If the father’s first name ends in a single consonant + -uii, then the ending becomes -beBHY / -beBHA.

FATHER’S 1ST NAME MALE FEMALE

ending in a single C + ni: -beBHY -beBHA
AmnaTonuii AmHaTOIBEBHY AmnatoabeBHA
Bacwnuit BacuibeBuu BacunbeBHa
I'ennanmii I'ennanseBuy T'ennanneBHa
EBréuuii EBrénnesuu EBréunesna

16-2




Grammar Lesson 16

Irregular forms (for reference):

FATHER’S FIRST NAME MALE FEMALE
SlkoB SlkopneBuy SIkoBeBHa
Huxnra Huxatna Huxntnana
Muxann MuxaitnoBud MuxainoBHa
Wnps Wnbry Wnpriangna (4 pronounced 1)

g@ Ask the following people how they are doing. Their father's name is in parentheses:

Example: Bapgapa (Crenén) [] Lobpwiii denw, Bapsdapa Cmendanosna, kax 6l nodcugdeme?
1. Bopuc (BukTop) 2. Hanéxma (KoHcTaHTHH) 3. Aunekcauap (Cepréit)

4. Mapwnna (MBan) 5. ®&nop (Muxarn) 6. Bmamgumup (Ubs)

7. Anna (Annapéin) 8. Ombra (Bacwnwit) 9. AmnTOH (ITaB¢m)

10. Upnna (I'edpruit) 11. Onér (Hukomaii) 12. Tannna (JIMuTpwmii)
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16-1 ypok FpammaTuka
___________________________________________________________________________________________________________________________]

16.b Present Tense — 1°-Conjugation

16.b.1 Stem + Ending

Like nouns, verbs can be broken down into stems + endings. However, unlike nouns and adjectives, not all verb
stems end in a consonant, and not all verb endings begin in a vowel. In describing how verbs conjugate (form the
present, past, imperative, infinitive, etc.) we will classify them by their stems. Verb stems will end with ‘+’. First
let’s look at one set of endings for the present tense:

15'.Conjugation Present Tense Endings

SINGULAR ! PLURAL
1% (1) -{U} (-y/-10) I 1* (Mb1) {OIM (-ém/em)
2" (81 {0 (-émb/emn) I 2" (BBI) -*{O}re (-éTe/ere)
3" (on/ond/ond) | -{O¥T  (-8T1/eT) : 3" (omr) -{Ult  (-y1/-10T)
16.B.2 -AM+ Stem Verbs

By far the most common verb type in Russian are -aii+ stem verbs. Once you learn this verb type, you will be
able to conjugate thousands of Russian verbs.

We have already seen the following -aii+ stem verbs:

nénaii+  pad0Taii+ NOKMBAW+ UMTANW+ cAymai+ NOHMMAN+ mepemyTaii+ cnpamuBai+ mau+

do;make  work get along read listen to understand — mix up ask give

When we add the 1*'-conjugation endings to -aii+ stems, they look like this:

Present Tense: -AW+ Stems

Person / Ending Pronoun | gpénaii+ do; make | uawmraii+ read naii+” give
Number

1sg -{U} s nEna YUTAIO Jaro

2sg -{O} b TBI Jénaenib YUTACIID naéib

3sg -{O}r OH/OHA/OHO |  mémaer YUTAET naér

1pl -{O}m MBI nénaeM YUTAEM naém

2pl -{O}Te BBI némaere yuTaere naére

3pl -{U}r OHU ENIAI0T YUTAIOT JIafoT

________________________________________________________________________________________________________________

& Absolute take-to-the-bank rule: For all 1*-conjugation verbs, in order to form the ons-form

| ! just add a -7 to the s1-form: naro > nasor. Except for a p0551ble difference in stress, there are no

i exceptlons None.




Grammar Lesson 16
? : Question: I thought you said these verbs are -aii+ stem. Where’s the ‘ii’? 1 don’t see any :
i ‘M’ in ménaro, YUTAET, €tc. |
| |
i Answer: You should know better than that. All of the verbs do contain an ‘it°. It’s after |
i the -a-, and is spelled by a soft indicating vowel, either ‘e’, ‘€’ or ‘w’. So the :
! basic sound is as follows: !
; nénar aH{EYn{AYH{UY (iU} is spelled ‘0°) ;
i pa6oéraems  p{A}6{O}T{A{O}mb (unstressed ii{O} is spelled ‘e’) :
. ... S MALE{O e (stressed ifO] is spelled €) |
? : Question: What do you mean by the -"{O}- ending in pa6oTaems and génaer? I don’t
! see no stinkin’ ‘o0’.
Answer: You’re really slipping. Don’t forget that an unstressed letter ‘e’ may be {O}.

you will get ‘é’.

Granted, the forms pa6éraer and nénaer don’t reveal the underlying {O}, but
the form maér sure does. It’s really {O}. So, anytime the Present Tense of a
1*-conjugation verb is stressed on the ending, for the TbI, 0H/4, MBI, BbI forms,
But don’t write ‘€’ if the stress is on the stem!

As a (stupid but quite effective) mnemonic device, you can call these 1¥-conjugation verbs Up-to-Snuff verbs.
The phrase Up-to-Snuff contains the three vowels ({U}-{O}-{U}) of the 1*-conjugation in the same order they
occur in the verbal paradigm:

Up {U} Pl HKHUB-Y YUT4-10
TBI KUB-€ITb  uuTA-emb  (this ‘e’ is {O})
OH/A  XuB-€r YUTA-€T (this ‘e’ is {O})
to {O} , ,
MBI JKHUB-€M YHATA-€M (this ‘e’ is {O})
BEI KUB-€Te  uMTa-ere  (this ‘e’ is {O})
Snuff {U} |omn  xus-yr  umri-1OT
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16-1 ypok FpammaTuka

16.T More (Non -AU+ Stem) Up-to-Snuff Verbs

Other 1*-conjugation (Up-to-Snuff) verb types: nn+ go, mus+" live, 308+ call

These are verbs whose stems do not end in -aif+ but which have the same Present Tense up-to-snuff endings as
verbs like nénaii+ and untaii+. For now we won’t give these verbs an official name. Just note that all the stems

ends in a consonant, just like the -aii+ stems.

Present Tense: 1%'-conjugation (Up-to-Snuff)

(-an+ stems and others)

PERSON / NUMBER STEM ENDING WORD
yHuTai+ YUTAIO
nénaii+ J1éao

1sg P A -{U} e
U+ uay
KUB+ JKHUBY
30B+ 30BY
yHuTal+ YUTAEIIb
néman+ JIéIIaeln
2sg ThI A +{O}tmp |
U+ 3911100
SKUB+ JKUBEIIH
30B+ 30BENIH
yHuTal+ YUTAET
OH nénaii+ nénaer
3sg oHA A -{O}r |7
] nn+ 1591 (1
OHO KHUB+ JKUBET
30B+ 30BET
yHuTai+ YUTAEM
nénaii+ némaeM
1pl MBI Aan -{O}Mm HacH
A+ uaéM
KUB+ JKUBEM
30B+’ 30BEM
qUTAR+ qHuTdeTe
nénaii+ nénaere
2pl BBI san ~{Olte |°°
U+ uaére
JKUB+’ JKUBETE
30B+ 30BETE
yHuTal+ YUTAIOT
nénaii+ JEIAI0T
3pl OHHU Aai -{U}r HaI,ET
U+ UAyT
KUB+ JKUBYT
30B+ 30BYT
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Grammar Lesson 16

Question: What a minute. Why are the final consonants of the stems ua+ , :xkuB+ and
30B+ hard only before endings beginning with -{U}: may(t) / xuBy(T) /
30BY(T), but then the ‘a1’ or ‘B’ are soft everywhere else, when the ending
begins with {O}: ugémn, kuéub, 30Bémb? What’s with this switching
between hard and soft?

Answer: You’re back on track. Really good observation. Yes, the softening before all
the endings beginning in {O} is unexpected, but we’ve seen other cases of
unpredictable softening, as in o, ou{A}, ou{O} but ou"{l}. Just be happy to
know that this is the case with the entire Russian verb system: all consonants
capable of softening do so before endings beginning with {O}.

16.6.4 Meanings of the Present Tense in Russian

© Good news! Russian has just one Present Tense. In other words, all of the following English sentences are
rendered by the single Russian sentence:

RUSSIAN ENGLISH

I read a magazine [every morning].
p , _ I am reading a magazine.
S unTar xypHAI. = . )
I have been reading a magazine [for 3 hours].

1 do read a magazine [every day].

@ Listen and repeat:

Example: yutaii+ [ s uumdro, mel yvumdewts, ond uumdem, Mol Humdem, 6bl Yumdeme, OHU YUMAIOM
1. uwmrai+ 2. pémai+ 3. un+’ 4. Kus+

5. pabOoraii+ 6. TOXHUBAI+ 7. cupamuBaii+ 8. maii+’

9. 30B+ 10. crymaii+ 11. moHMMAI+ 12. moxymnaii+ (buy)

@ Produce the form that is called for on the tape. This is a long, but very important exercise.

Example: YUTAI+ )KypHAT (MBI, OHU) [] Mot wumdem HCYpHAL, OHU YUMAIOM HCYPHAIL.

xopomd padbodTaii+ (s, Mbl, Thl, BbI, KOs, erd Miaamui Opat, UX poJauTeNH, Anna JIbBOBHA)

)uB+ B MOCKBE (MBI, BbI, MOSI CECTpa, HAIITK JIETH, 5, ThI, OHH, ‘HpHHH POIIATEIH, IOpHﬁ }iKOBneBHq)
YUTAi+ TUChMa (51, MBI, OHH, BHI, ThI, Bacs, COHnHa n04b, Bépa [1aBnoBHa)

cayuaii+ paxuo (s, Thl, MbL, Bbl, FOpuH 6par, Mor céctpsl, 51, Bopric Wibi)

crpamuBaii+ (Tel, 51, CaBa, MOW pOJUTENH, BbI, MbI, [Tomina BopricoBHa, nx Muaamuii 6par)

1

2

3

4

5

6. naii+" (ThI, MBI, BB, 5, JIeB Hukomaesuu, onu, 51, Haranus MuxainoBHa)

7. He NOHUMAW+ (ThI, MBI, f, Onbra ITaBnoBHa, BbI, [1€Tp [leTpOBUY, €TO poanTENH)

8. ua+’ B KUHO (s, MBI, OHH, BBI, Thl, MOH 0T¢II, Hatl Tpodéccop, MAIINH ChIH)

9. 3o0B+" (JlomwTa, THI, MBI, €10 Opat, ['eopruit MakcimMoBu4, 3051 CTEIAHOBHA, 51, BbI)
1

0. gto...nénait+? (THI, OH, Mamma, BbI, [ eHHAIMI AHAPECBUY, I, MBI, X POJIUTEIIN)
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16-1 ypok FpammaTuka

Now try some verbs you've never seen before. Don’t forget to note where the stress is.
(Remember, if the stem ends in a consonant other than ‘i’, the endings for the s and oHu-forms
do not soften the consonant.)

Example: Oep+’ take [] 5 6epy, OH bepém, oHu bepym

3HAI+ know [] 51 31410, OH 3Hdem, OHIL 3HAIOM
BO3bM+ take ] 5.603bMY, OH 03bMEM,  OHU BO3bMYM

1. 3Haii+ 2. xa+  (waif)

3. nmymait+ (think) 4. mowmoraii+ (help)

5. Gep+ (take) 6. 3ameuaii+ (notice)

7. Oéraii+ (run) 8. Bcraii+ (get up)

9. Mo+ (wash) 10. naun+ (begin)
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16-1 ypok JomaluHee 3agaHue
,@f Exercise 1  Form the patronymic for the following:

Example: Kanna (boprc) [] 3opascmeyiime, Kauna bopucoena!
Bamiwm (I'puropmuti) [] 30pascmeyiime, Baoum I puedpvesuu!

(You only need to write 3npaBcTcBYiiTE OnCe)

[u——

Amnatonwmii (bopuc)

2. Kiupa (Hropb) " "

" n

3. Jleonwnn (AHaTOIHMN)

4. Tamina (Muxann)

n n

5. Enéna (Bagim)

6. TOpuii (FOpuit) " "

" "

7. Jlapuca (JImMuaTpwii)

25 Exercise 2 Fillin the verb chart. Pay attention to where the stress is!

YUTAR+ IIOHUMAMN+ man+’

JKUB+

ThbI

OH / oHA

MBI

BbI

OHU

25 Exercise 3 Translate into Russian:
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1. We are going to the movies.

2. What is Nina’s brother doing? (Best word order: What (is) doing Nina’s brother?)

3. T understand everything.

4. My sisters are listening to the radio.

5. — What are you doing? — Nothing special.
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